P(r) + all horses in a st of n horses are
the Sawe  coler

ngf ’

boxs step 0@4//{7 L P(1) is dhue é’ﬁf@&,ﬁ'hc& there 1's
9%7 Me  jerse

[ nduetive it Assume +hat P(EY is Hrue - all foses in
‘ AnY Set Of K horses are the Sawe cdlor
Coma oler dn(l{ J+ horsesy number +hese as hgrses
1, 8,3, ., K, k+l.  Mw +he Jirst £ of Jhese porses
all  wust have the Samwe color /agme, Ih)} anol
the lwt Kk o thee wast alse have +he sause color
(disa?/:ee , this i6 het P(L) frow. IH , this is a 0(fHWh7LM>

woreover if we consdetr k=1, thew K+1=2 and hence
the sels of horses dp net oenlap .

/)-533@ B8 =17 k23
43 A Falpm | s
qt fﬂrL\l note +hat
Ulvz ] Here are
A . #03 oHy w%
0 H::E q_j%l wi+h d/rf%&rwi
b T ¥ b Cut gt 57(,@/@5
D P diz g lialie




